Efficiency vs P,

- 0.2
o
2 0.18F
> -
2 0.16F
o
o
20.14
0]
0.12F
0.1
0.08F
0.06F
0.04
0.02F

.................................................

.................................................

107 1 10 prT (Ge\})o3

[—=— DQM_VUUUI_RUUUU00U00T _Global —MKFTOrgina_—]

—— DQM_V0001_R000000001__Global_mkFitNewDeti_ RECO
—«— DQM_V0001_R000000001__Global_mkFitNewDett33_ RECO
—— DQM_V0001_R000000001_Global _mkFitNewDetNoF__RECO

RECO

= 0.2
lg r
>\0.18:—
(C) r
5 0.16:—
o C
£0.14F
(] r
0.12F

0.1F
0.08]

0.06F--

0.04
0.02

Y| NI

................................................

Ratio

0.95

Efficiency vs ¢

o 0.1-

o T I T T 1
=.0-09 : +
S i
90.085--

o
£0.07F

5}
0.06)
0.05
0.04
0.03
0.02
0.0

1.0

o ]
5 | : T
14 198 +HH : 4 L
- I e LB it | +-
1l -+ 28C Erey Ak ¥

TP @




	Contents
	Page 1


